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Fourth Semester B.E. Degree Examinatiffiff'$ec.2018/ Jan.20l9
- m,- \Data Gommunicffiion
d.**

Time: 3 hrs. grye T' Max. Marks: 80

Note: Answer any FIVE full questions, ch&ipp ONE full questionffiiwach module.
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1a.

b.

c.

Define Data Communication.
system. With the neat di
List out the functionalities

Define Transmission
during signal transmi

c. Define
t2,
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process with st$ffi$* W
lain FHSS urith-suiiable diagram. ..,b. What is Spread Spectffi Explain FHSS gft$iuitable diagram. -, (08 Marks)
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4 a. What is Muftiffifrlt nenne syrrrrffi'rr'TDM, wittr datffihl management - strategies.
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b. Computg thsfollowing, if the "{4Jafrfe for each inpgfiffinnection is I Kbps. If I bit at a timt
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I a ,e&"2 a. Explain digital6ffinal transmission method*r&plain line coding. (06 Marks)

b. Draw the liqg qgl<ffifor the sequence 01ffi using NRZ , NRZ - L , NRZ -I ,RZ, AMI.

"u 
'{ w"' (07 Marks)

h put. A network wjth dbandwidth of l0rnbps can pass only an average of
per minute. With-Wh"frame carrying arghyerage of 10,000 bits. What is the
irio .orrrr.rrLl #V " d%Etr (o1 tvrorlrs'l

b. Computg thsfollowing, if the .{4Ja"i e for each inp*il#mpnnection is lKbps. If I bit at a time
is mutti#,$ed, what ii the qq&tfu1of i) Each ighipCiot ii) Each output slot

c. Explaffidhow message cgffisbnt from one,qystEm to another using datagram approach and

Cgldtut. the total r:"%WappropriatedffiFm. (06 Marks)
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a.*" Explain Error de$sflon using blocldqoiling. (06 Marks)

b. Identify theS*di:word using
c. Explain di{ferefrt frame types

$-;:

*fu oR
a. What is Internet checkm#&If a sender needs to send four data items 7, 11,12,0, 6 answer

the following : ''-, ' (06 Marks)

i) Find the checklurd at the sender site.

ii) Find the cheqk$b.m at the receiver site if there is no error.
b. Explain stop ffiq it protocol with appropriate diagram. (04 Marks)

c. Explain the $arttt format and transition phases of point to point protocol. (06 Marks)

throtfthhut of tLis network? G# -ffi'
(03 Marks)

fsffi.J
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3 a. Explain PCM and qua4tiffin process with st&pff$ q @* - (08 Marks)

data word 1001 and generator is 1011. (04 Marks)
(06 Marks)
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Moduld-4
7 a. What is Channelization? List and explain the chann6l@ion protocols. 

10.6 Y:f:l
b. A slotted ALOHA network transmit 200 bit furtres*trsing a shared channel with 200 K

bits/sec bandwidth. Find the throughput irtrcffiffi produces. (06 Marks)

b. bxplom Dnelfy COnUOIItru asuE$lrrl$iuuu' ."4: \u'.'

c. Define Bluetooth and its archi$ffire 'W '' (06 Marks)

r) 1000 Frames per second iD 
-5b0 Framffir second iir) 250 firames per second'

c. Iiescribe Gigabit Ethernet. %""* -xq 
dk (04 Marks)
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8 a. Describe Pure ALOHA and Slougd@@HA. i-.., 
* (04 Marks)

b. Explain briefly controlled acceps-ri$hplioa. u"#* 9: Y::Ilt acce;F_-Ire#
archifuthre.
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&** @ t' Module-S **hg a. Write a short note onp44,efute networks d;.1ff;*"- (04 Marks)

b. Explain the Operatio*ofbethlar telephony. 'r (06 Marks)
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10 a. Explainthqruikhsofmobilelrwithpirads...,,,.--..-.1.- --^"1:iy::T;l;. ;6i;d-*T6f.grari header format*ryi?f neat diagram and give the description of each field'

-'-r---4; -&W" ' ffiu**h &* (08 Marks)

--E
Exptain Transitioffidm IPV4 to IPV6-
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# (06 Marks)
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